
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

    

1) 1.5 × 4.38 = 6 . 5 7 0

2) 9.682 × 4.36 = 4 2 . 2 1 3 5 2

3) 1.12 × 6 = 6 . 7 2

4) 3 × 5.25 = 1 5 . 7 5

5) 3 × 4.99 = 1 4 . 9 7

6) 3.8 × 8.395 = 3 1 . 9 0 1 0

7) 6.8 × 1.14 = 7 . 7 5 2

8) 3 × 2.312 = 6 . 9 3 6

9) 1 × 8.26 = 8 . 2 6

10) 8.918 × 5.5 = 4 9 . 0 4 9 0

11) 3.5 × 3 = 1 0 . 5

12) 9 × 3.34 = 3 0 . 0 6

13) 1 × 2.218 = 2 . 2 1 8

14) 1.634 × 6.79 = 1 1 . 0 9 4 8 6

15) 6.58 × 3 = 1 9 . 7 4

16) 9.319 × 8.7 = 8 1 . 0 7 5 3

17) 6 × 4.39 = 2 6 . 3 4

18) 5.94 × 9.517 = 5 6 . 5 3 0 9 8

19) 1.98 × 4.571 = 9 . 0 5 0 5 8

20) 2.79 × 7.459 = 2 0 . 8 1 0 6 1

5 . 8 0 9  ×  7 . 8  =  4 5 3 1 0 2

1. Count the quantity of numbers to the right of the
decimal for each factor.

5.809 has 3 numbers right of the decimal (5.809)
7.8 has 1 number right of the decimal (7.8)

2. Add the amounts together. Your answer should
have the same quantity of numbers to the right of
the decimal.

3 + 1 = 4
5.089 (3) × 7.8 (1) = 45.3102 (4)

Also notice that 5 × 7 = 35 and 6 × 8 = 48 , so 5.809 × 7.8 will be a more than 35 but less than 48.

1. 6.570

2. 42.21352

3. 6.72

4. 15.75

5. 14.97

6. 31.9010

7. 7.752

8. 6.936

9. 8.26

10. 49.0490

11. 10.5

12. 30.06

13. 2.218

14. 11.09486

15. 19.74

16. 81.0753

17. 26.34

18. 56.53098

19. 9.05058

20. 20.81061

     

Determine the placement of the decimal in each product.
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